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Finish the number line of 2 Times Table.

2 4 6 8 10 12 14 16 18

10 205 150

1 two 2

2 twos 4

3 twos 6

4 twos 8

5 twos 10

6 twos 12

7 twos 14

8 twos 16

9 twos 18
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Exercises :
（1）find out the missing numbers

2, 4, 6, (    ), 10, (    ), 14, (    ), 18, 20.8 12 16

（2）matching game

2×2
5×2
6×2
9×2
8×2

6  2s
2  2s
9  2s
8  2s
5  2s



or

2×3=5

4×2=8

2×5=10

9  2s equals 11

10×2=20

2×3=6

9  2s equals 18

(3)
T F



How many cherries in all?

8×2=16（cherries）

Talk about the meanings.



2£

How much in all?



2 times table 
1     two     2
2     twos   4
3     twos    6
4     twos    8
5     twos    10
6     twos    12
7     twos    14
8     twos    16
9     twos    18

Nicole from SHANGHAI



Don’t forget me!
I am your friend——Number line!


